@
R B
95 |2 R , R
1 4,975 2,20 } ’ M LBE FL ' n s
| "
g * + g L]
B m2210
= l%lF5220 X
« ] PR T50 HE KBS L _ — .
2 WaTE H= a4
<3 T =3 h<100 "
B L]
T = @4»0 T[T T]
g T i o —0 ¢ a]' = °
g g g s £ IR Y I
LEHER 7v78# | | ———
N 4 = \- RSN 3000m/5M
—l— | FEEszEE S=1/100 | | EESIEE s=1/100 |
s
: HITIIAE :
i
60| w5 Lm0 |ew
1,59 1,138 230
2 [ 2EFE@mR s=1/100 |
g sasnpnpy IHHHINN =
2,985 2,98 2,200 1,10 g
. ZmYn ! 10
LB 1168 1,100 1,100 s wrL T
/ /—ﬁgmu'ﬁ (RHNR-1) 4.0 T[] 1]]
. > s ||| Mo NEE BE ‘l .
g on | » - T g
sMolll_ln = THE 2 : | — TBEF L
— =gt (+300) w| : = ) L
2 EX 3 e —
. 3 £
e ; ®) N [(FEIEE s=1/100 ] . [ dtEmrEmE s=1/100 |
= 1/
N - 7/ s _/ 2RHHE : 1RHE
7/ (i—?so) 3 §3 (AW=11)  0.910%0.300=0.273 i l PPN S (A#-1)  1.365%0.200=0.273 ni
= l,:,’ _ 1= S4 (AW-13)  1.780x0.450=0.806 m $2 (AW-4)  1.630%0.550==0. 897 nf
e EE 1/ 5| B 1.079 M > 1.064m=53. 20m x 1/50 B 1.170 m > 1.163ni=58. 14ni % 1/50
1/ <« = (28%) h—J-+BEBE =53, 20 (B AF-+EFE+KE-+ME=58. 14n1
1/ =
’1:/ PR .
hﬁ‘——g . BEOBE BEOBE
4 ivwms/ r— PR
2,985 | 2,98 5.9
8,910
HOBE Ho®
HEFTORRERER o [ EEmE s=1/100 | v v =
T
g 8 b =
o o« g
g =
HMEHiR o =
. o WEF L
RE T HER/ Oy I8 _ _42755 Fg i _VE
18 8910 x 7415 = 72480 o= mR 120%120 e & . n
B8 O- &Le  120x120 g - o g i
g
28 147 x 1415 = B0 & mrv mxw mrEs = g &%= W B = g 132 8 ot
=K
Bn o A EHL 45 x 90 - B ) e
1EFL o 1=
EHERER 126.68 of m___v”é’ - } X L g
prprom—, K BHDRUEESMIEREFS g \ £ g
Pr—— A Bk, BA. BHE. ISOVLTREFRS \ DAY
| b~b’ MFEE S=1/100 | [ a~a BEE $=1/100 |




